NASA STUDENT CUP 2006

(1 A1)

RS 0 H A
20065 H__H
F— 24
REH
A=Y R |k
K4
FRA A = N4
B4 N O
2Ny 7 A exprlst-2nd T4 AX B:-C-P-XCP
K4
FRA A = 4
B4 kO
2Ny 7 A exprlst-2nd T4 AX B:-C-P-XCP
K4
FRA A = N4
B4 O
2Ny 7 A exprlst-2nd T4 AX B-:C-P-XCP
K4
FRA A = 4
B4 kO
2Ny 7 A exprlst-2nd T4 AX B:-C-P-XCP
K4
FRA A = N4
B4 O
2Ny 7 A exprlst-2nd T4 AX B:-C-P-XCP
K4
FRA A = N4
B4 O
2Ny 7 A exprlst-2nd T4 AX B:-C-P-XCP



K4

K4

K4

K4

K4

K4

K4

K4

TR ¥
B4

BN 7 A  exp -+ lst * 2nd
FRA ¥
B4

BN 7 A  exp -+ lst * 2nd
FRA ¥
B4

BN 7 A  exp -+ lst * 2nd
FRA ¥
B4

BN 7 A  exp -+ lst * 2nd
FRA ¥
B4

BN 7 A  exp -+ lst * 2nd
FRA ¥
B4

BN 7 A  exp -+ lst * 2nd
FRA ¥
B4

BN 7 A  exp -+ lst * 2nd
FRA ¥
B4

BN 7 A  exp -+ lst * 2nd

G

Y= N4

A X

A4t A B-C:P-

G

Y= N4

A X

A4t A B-C-P-

G

Y= N4

AR

A4t A B-C-P-

G

Y= N4

AR

A4t A B-C-P-

G

Y= N4

AR

A4t A B-C-P-

G

P X

A4t A B-C-P-

G

P X

A4t A B-C-P-

G

AR

A4t A B-C-P-

Y= N4

Y= N4

Y= N4

(__#R)

XCP

XCP

XCP

XCP

XCP

XCP

XCP

XCP



